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QUESTION 1

True or False, Info Replicator supports copying the data at the same time. The basic attributes of the home directory,
extended attributes, ACL (access control list). WORM (write-once-read-many) and CIFS / NFS share configuration
information is known as a wealth island from the end. When a disaster occurs, master and slave sites can quickly take
over the business after the switch.

A. True

B. False

Correct Answer: B

QUESTION 2

EXT3 is the third-generation extended file system commonly used in the Linux operating system. Which of the following
statements is correct regarding the EXT3 file system?

A. block is composed of a number of consecutive areas, block number starting from 1, the overall number, grouping

B. Each i node corresponds to a 1GE file or folder, which stores the description file size, file storage location and other
information

C. The block group consists of a number of consecutive blocks, the number within the block group is determined by the
block size

D. The superblock stores the basic information about the EXT3 file system

Correct Answer: A

QUESTION 3

In the scenario of database protection, when the slave uses the virtual snapshot to verify LUN data consistency on the
production end and the DR end and the disaster recovery end LUN database can not be started normally. Which of the
following are the possible reasons for this? (multiple choice)

A. After a snapshot of the LUN of the redundancy site is created, the snapshot is not activated at the same time

B. Disaster recovery data stored in the Cache, not yet written to the hard disk

C. When creating a snapshot on the disaster recovery end LUN The production end is copying data to the disaster
recovery end

D. The production end and disaster recovery end adopt the disaster recovery solution of incremental LUN copy. The
incremental data is abnormally interrupted during the synchronization process and has not been recovered

Correct Answer: ACD

QUESTION 4
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Using Oracle backup, which must be backed?(multiple choice) A. Data files
B. archive log

C. Control Documents

D. operating environment (listener tns pfile or spfil, etc.)

Correct Answer: ABC

QUESTION 5

For commonly used SQL server 2005 and 2008, users can connect to a specific service through the SQL server
management studio tool database engine. T login there are two ways to authenticate. Which mode is needed for the
client application connection?

A. sql server authentication

B. Windows authentication

C. Log in as super user

D. Other ways when landing

Correct Answer: A

QUESTION 6

In the OceanStor 18000 storage system, a 15K RPM SAS disk is used. Assuming that the average seek latency of this
type of disk is 6 ms. which type of disk can provide a single disk IOPS?

A. 100
B. 150
C. 125
D. 167

Correct Answer: B

QUESTION 7

Huawei two nodes Standard Edition N8500, opened the CIFS service. Which of the following CIFS parameters prevents
users from seeing other users in the table of Contents?

A. oplock
B. noguest

C. fs-mode
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D. hide-unreadable

Correct Answer: D

QUESTION 8

On the command line of the N8500 (V200R001) clustered NAS system, you run the NFS> share add rw, no_root_squas
/ vx I xscmfs command. Which of the following is correct regarding this?

A. The client can modify the file system when it accesses it

B. It allows asynchronous writes to the file system and writes to the disk of the file system when the operation request is
not responding

C. It sets the client\\'s root user does not have root privileges to access the NFS shared file system
D. NFS shares created can be accessed by all clients

Correct Answer:. AD

QUESTION 9

There are multiple types of disks in a hard disk domain in the OceanStor V3 storage system. If you add one SAS disk to
the hard disk domain, the topology will be load balanced as which of the following?

A. Tier O disks perform data equalization.

B. All disks in the entire hard disk domain will participate in data equalization.

C. The CK of the target CKG will be released after data equalization is completed.
D. OCeanstor V3 enables cross-engine data equalization.

Correct Answer: D

QUESTION 10

An enterprise buys a set of Huawei OceanStor 9000 storage systems. Some of the enterprise\\'s basic software is
stored in a directory, and users can access enjoy/it. In order to facilitate the operation, users should not enter the

account password, and the basic software directory is set to NFS enjoy, you should check the share of the "guest
enabled" option.

A. True

B. False

Correct Answer: B

NFS does not have guest users this option.
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QUESTION 11

An administrator creates 2 libraries (Library#1, Library#2) in Simpana CommcCell console, and creates a storage policy
Policy#1 using Library#1 to store backup data. Now the administrator wants the backup data to be stored in both
Library#1 and Library#2 in turn. So, how to configure the storage policy to meet the requirement? (Choose two.)

A. Adding Library#2 as the library for Policy#1.

B. Setting Data Paths to "Use Alternate Data Paths" mode.

C. Setting Data Paths to "Round-Robin between Data Paths" mode.

D. Setting Data Paths to "Use preferred Data Path" mode.

Correct Answer: AC

QUESTION 12

Which of the following is correct regarding the ext3 file system fault repair?

A. Use the mount command to view the file system mount status is read-only

B. mount the damaged file system, the direct implementation of fsck to repair

C. should not be arbitrary on the normal operation of the fsck file system

D. By collecting, var / log / message host log information to locate file system failure

Correct Answer: B

QUESTION 13
Which of the following description is correct about simpana backup software snapshot? (Multiple choice.)

A. Pause the app before the snapshot, go to the hardware storage snapshot to trigger a common snapshot with
application consistency.

B. Backup software snapshot function can automatically find the storage volume of the file system, database, malil
system.

C. Background snapshots can be indexed to ensure application recovery and small particle recovery.
D. Snapshots backup can be offline, the backup server almost has no impact.

Correct Answer: ABCD

QUESTION 14
Which of the following is not an authentication method supported by the OceanStor 9000 NFS protocol?

A. LDAP authentication
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B. WSSE certification
C. NIS certification
D. AD domain certification

Correct Answer: B

QUESTION 15

With Redhat linux enterprise 6 system the df and du commands allow you to see the mnt capacity, as shown below.
What causes the capacity shown to not be the same?

redhat: ~ # df -h / mnt Filesystem Size Used Avail Use% Mounted on / dev / sdb 1008M 514M 443M 54% / mnt redhat:
~ # du -hs / mnt 40k / mnt

A. The mnt directory mounted block device is abnormal

B. The mnt directory is also mounted another block device and some files that are currently open.
C. The mnt directory have been deleted

D. This is a bug of the known du and df commands that need to be upgraded to the latest version

Correct Answer: C
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